11 Rniaie et o |\

Nhan s thap phan véi 10,100,1000

Tén:_ Ngaythang:_ Piém:__
8,169 x 10 = 4,527 x 1000 =
10,306 x 10 = 10, 628 x 10 =
1,617 x 100 = 6,277 x 10 =
3,837 x 1000 = 4,032 x 10 =
2,789 x 100 = 5,597 x 10 =
9,961 x 100 = 7,621 x 100 =
10,306 x 100 = 2,762 x 100 =
6, 114 x 100 = 8,952 x 1000 =
3,909 x 10 = 6,732 x 10 =
5,802 x 1000 = 2,315 %100 =
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Nhan sd thap phan véi 10,100,1000

Tén:__ Ngaythang: _ Piém:____
8,169 x 10 = 81.69 4,527 x 1000 = 4527
10,306 x 10 = 103.06 10, 628 x 10 = 106.28
1,617 x 100 = 161.7 6,277 x 10 = 62.77
3,837 x 1000 = 3837 4,032 x 10 = 40.32
2,789 x 100 = 278.9 5,597 x 10 = 55.97
9,961 x 100 = 996.1 7,621 x 100 = 762.1
10,306 x 100 = 1030.6 2,762 x 100 = 276.2
6,114 x 100 =6114 8,952 x 1000 = 8952
3,909 x 10 = 39.09 6,732 x 10 = 67.32
5,802 x 1000 = 5802 2,315 x 100 =231.5
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